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1. frat  Trafas @@ @ERw
|x—4|+|x—7| =15 TI<T FA § ?

() ¥ T
®) F
(c) ¥« dF
(@ s=fma

2.TF B f:4— B T YR wRefa

W 3 .\.AHvHNX+w. xeAd .w_ dm
3x+5
S e €, @ 4 3R B frad W=

?7?

(@ 4=R\{-3}3RB=R\{-2}

(b) 4=RSRB=R\{-§}
(c) 4=R\{-3} 3R B=R\0}

(@ A=R\{-%} 3R B=R\%}

3. o3 B ferdia TR 22+ ax+5=0
¥ B arafas 7@ ¥ | o Truifa =@
¥ forq Prafafaa & & wi9-a1/9 =
e /¥ ?

1. a+B=0, a?+p2=2
2. af?=-1,a=0
3 Ry M Fe H AT R T IR
EULE
(a) Fad 1
(b) Fa2

ASGT-B-GNL - D 2

(©) 13k 231
@ Fa1,7d2

8
A.d@ﬁ.«xw+k-ewsxw * fug ywwwr 3%
BT UG 5600 §, A x HT AT T ?
@@ 6
®) 8
© 9
@@ 10
5. Bx—p)4(x +3y)* & weor § T wg
g7
@ 9
() 12
© 15
@ 17
m.?n,xmwan%mmdnﬂﬂwma

pt+ts=8 iR gr=15 w_ TR ﬂ%
IR God B G & T SR FT R ?

(a 6
® 5
() 4

@ 3

1. How many real numbers satisfy the
equation |x—4|+|x-7| =15 ?

(a) Only one
(b) Only two
(c) Only three

(d) Infinitely many

2. A mapping f:A4—>B defined as

2x+3

X) =
) 3x+5
then what are 4 and B equal to ?

,x € A. If fis to be onto,

(@ A=R\{-3}and B= R\{-%}
(b) 4 =Rand B=R\{-%}
(¢) 4=R\{-3} and B = R\{0}

@ 4=R\{-3} and B=R\{})

the quadratic equation x2 +ax+b=0.
Which of the following statements
is/are sufficient to find & ?

1. a+f=0, a?+p2=2

2. ap2=-1,a=0

Select the correct answer using the

code given below :
(a) 1 only

(b) 2 only

. a and B are distinct real roots of

(c) Both 1 and 2
(Y} Neither 1 nor 2
4. If the sixth term in the binomial ex-

8
_8 )
pansion of hx 3 4+ x*logyo xw is 5600,

then what is the value of x ?
(a) 6
®) 8
© 9

@) 10

5. How many terms arc Bo:w in the
expansion of (3x — M+ 3y)?

@ 9
®) 12
© 15

@ 17

6.p, g, r and s are in AP such that
p+s=8 and gr=15. What is the
difference between largest and smallest
numbers ?

(@ 6
® 5
© 4
d 3
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7. fra gt st 1 % F
Fat ) R AR :

1. Cn,ry e & afen=2r &

2. Cn,ry e & i n =27 = 13
n=2r+1%

e et -/ @ 2/ 7
(a) ¥ 1

(b) Fa9 2

(c) 13R23m

@ 71,782

m.idimdw.ﬂqﬂ.uaﬂ.ﬂdﬂm@iw
wﬁﬂwao%ﬂ@mﬂﬂwm_

m+n)FAFA TR 7
@ 6
) 7
© 8
@ 9

9. W MY W= PERMUTATIONS'
* FEAY N e x W £ =
‘COMBINATIONS® ¥ srrefi 4 gy
y R\ Frafafes % we e

@ x=y
®) y=2
(©) x =4y

@) y =4y

£ ASGTB.GNL_p

10. 3% 0, 1, 2, 4, 5 q, TREfw g
5-3/h HEATd, §ATE S € | 50,000 &
<< wEmsl 6 wiivaar feah 2

@) 20%
®) 25%

100
3

(c) %

@ _wo:\o

S SR AT A (02) Wkt ¥ Pty
Al \O&u_xlm_iuluT_Alx_, et
¥ & R %, R fer Hiftrg

:LWWmdaﬂﬁuuﬁ_ﬂﬁﬂﬁa
AT R ?

(a) N.

®) 3

© 4

@ o

un.ﬁﬂﬂﬂmdﬁﬁ._ﬂmﬂ.—w ?
@ 2

®) 3
©) 4
@ o

ey

D ———

7

.

Oonw.ann:.n following statements
for a fixed natural number » “

1. C(n, r) is greatest if n =2,

N.OQ,&mmmaom»nw:maumwl 1 and
n=2r+1

Which of the statements given above
is/are correct ?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

8. m parallel lines cut n parallel lines

9. Let x be the numb

giving rise to 60 parallelograms. What
is the value of (m+n)?

@ 6
®) 7
() 8

@ 9

ano»,vnﬂ:__ﬁzoumom
.megGH>H~OZm_ and y be
the number of Permutations of the
word ‘COMBINATIONS’.

‘Which one
of the following is correct ?

the word

(a) x=y
(®) y=2x

©) x= 4y

@ y=ax

igi mbers are formed ﬁmmnm .»ro

10- W..awamm_noacf 2, 4, 5 without repetition.

/h\mrwn »,m the percentage of numbers
which are greater than 50,000 ?

(@) 20%
(b) 25%

100
3

© %

110
3

@ %

Consider the following for the next two
(02) items that follow :

Consider the function
f@=|x-2|+|3-x|+|4—x|, where x € R.

11. At what value of x does the function
attain minimum value ?

@ 2
®) 3
© 4
@ o

12. What is the
function ?

@) 2
®) 3
© 4

@ o

minimum value of the
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m %wm:w_ﬂ@&aeniwwamﬂ@@m 16. T B o it Fard frah & 7
m ﬂmﬂqﬂ%u o Aﬁv 12
B s= 01+ 11 +20+31+41+. ..o 100 & 14
W fa=R SN -
13. aft @wr s 7 8 @ fywfa fRar 1% © 16
@ AT AT R 7 @ 13
@ o0
® S S TR A (02) wert F forg
@© 2 w AR iforg ; Frfafea
@ feifa & fmm s gear P
14. a2 T S F 60 & s T g, m~.=&+oowx+S=&+oo~.x+mnoa+8mooknq
ar Iwwe T gh ?
@ 1 17. R0 T wheor @ e 5
®) 3 SLIic] (reduced) foFm 1 ey 29
@ 17 .N
@) 34 (@) sin”2x-44sin2x+36=¢
iiﬂ@ﬂ%@ﬁmﬂ#wﬂ?ﬁg@d ®) mm=NNN+tm5NH|umno
RRT " (c) m_.snwxlnmmiwa+~muo

Pt POR #, P @ @ B ¢ sk
cosP=1 R | T sfiies et = siada
g9 IS PO, OR IR RP @ Fuw:
N, LR MR @ R o e R py, 18T sin2r=a-bve ?, et 4 9 5
OL 3R RM & T 5: 1, n+2, n+4 gl e § R ¢ v s wer

w.ﬂﬂxﬂﬂ&dgw_ w%nlv+mnﬂﬂmmﬂwm

@ E.:nwk+mwm5~xl§no

15.n AR HT§ ? @ o
(@ 4 ®) 14
() 6
() 8 (©) 21
@ 10 @ 28

ASGT-B-GNL - p 6

Consider the followin
(02) items that follow -

g for the next two

Consider the sum
S=Ol+ 4204304414 4 00,

13. If the sum S is divided by 8, what

is the remainder ?

@ 0

) 1

© 2

(d) Cannot be determined
14. If the sum S is divided by 60, what is

the remainder ?

@ 1

M 3

(c) 17

(d) 34
Consider the following for the next two
(02) items that follow :
In a triangle POR, P is the largest angle
and cosP = .W. Further the in-circle of the
triangle touches the sides PQ, OR and RP
at N, L and M respectively such that the

lengths PN, QL and RM are n,n+2 n+4
respectively where n is an integer.

15. What is the value of n ?
@ 4
(®) 6
(c) 8
(d) 10

16. What is the length of the smallest
side ?

(@ 12
(b) 14
«© 16

(@ 18

Consider the following for the next two
(02) items that follow :

Given that
sinx+ cosx+ tanx+cotx +secx +cosecx="7

17. The given equation can be reduced to
(@) sin?2x—44sin2x+36=0
() sin?2x+44sin2x—-36=0
(c) sin?2x-22sin2x+18=0

(d) sin?2x+22sin2x-18=0

18. If sin2x=a—b+/c, where a and b
are natural numbers and c¢ is prime
number, then what is the value of
a-b+2c?

@ 0
®) 14
© 21
(d) 28
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A (02) Wt ¥ fw ffifE 229 P, o) TR W WE B RA
TR i v e §N+memawm_dﬂww
MMNE | T S o ¢ @ 15
* |?+~;\wva+?+f\wvuo ® 14
@ 2
®) 4 @ 65
© 272 STt T A A (02) S 3 Ry P
@ 243 R =R fife
. g
@ V3(E-3+42-1) 2, -1,2) 3R (K 3,5) € | A W@ Fwr
R A € |

(b) ,\m?wt\m-,\m-;
©) ?wl\wfmu_v

@ (V6++3+42-1)
T I AT 3 (02) WAt & forg frafafea
A_A.m_ﬂ_._.mm@?ﬂ
AW WY A~ -1, 2) 3R B, 1, -1)
AT x? +y? + 22+ 2ux + vy + 2wz —1=0
F o & I fog §
N~.=+<+§§Wmﬁ~ww

(a) 2

() -1

(0 1

(d 2
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2.k MAAFTE ?
(@ 4
b 2
© 1
@ -1
24. 36 @ & fog agu =0 §, S A
@t R ® 2
@ (1,2, 10)
(®) (-1, -2, 10)
(c) (11, 12, -10)

@ (11, 2, -10)

Consider the following for the next two

22. If P(x, , 2) is any point on the sphere,
(02) items that follow :

then what is P42+ PB? equal to?

A quadratic equation is given by

(@ 15
?N,\mv%Ai?@iﬁfiﬁuo
(b) 14
19. What is the HM of the roots of the
equation ? © 13
© d) 65
®) 4
© 242 Consider the following for the next two
(02) items that follow : -
@ 243

Consider two lines whose direction ratios

inclined
20. What is the GM of the roots of the are (2,-1,2) and (k, 3, 5). They are inclin

equation ?

@ 2(V6-V3+2-1)
®) 2(V8+43-42-1)

t an angle z
al g——
4

23. What is the value of k?

. (@) 4
© (V6-+3++2-1)
®) 2
@ (Vo++3+42-1) @ 1
Consider the following for the next two @ -1

(02) items that follow :

Let A(1, -1, 2) and B(2, 1, -1) be the end
points of the diameter of the sphere
2+ 3% 422 + 2ux + 2vy + 2wz —1=0.

24. What are the direction ratios of a line
which is perpendicular to both the

lines ?
21. What is u+v+w equal to ? @@ (,2,10)
@ -2 |
qu Alr IMu ~Ov
() -1
© i () (11,12, -10)
@ 2 @ (11,2, -10)
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S
=

ST ST W X (02) W 35 fory P
R R Hifvrg
AT @ =37437438 ik 2=j-k
R 1A hfr B o e @ R 2B =27
%Mx%uolmw_
25. 5 freds s @ 7

(@) 3i+4j+2%

() 5i+2f+2%

(©) st-27+6k

(@) 3743744k

26. (@+3) 3R FAwHAT AR ?

@ m

® 3

© 7

@ %
ST 3 AT QY (02) W & o Fferfea
R fEr #if :

A WG @ TRY 7=47-87+%, x, y, 2
el < AT ol & WY FA: o, B, y
SHIOT ST R |

27. cosa Trad aRTeR 7

~~
e

OIa W

ASGT-B-GNL - D 10

©

(d

WIN ©vln

28. cos2f + cos2y Toa TR § 7

32
@ —351

16
b -~

16
(© 31

32
@ 3

HRY I 9 7 (02) Wt forg Feaferfea
® f=R fifsw :
Q fagatt 4 sk B fRafe wfew wawr: 7- 7
iR j+k €
29, frfofga fogel w fomm Aiftrg :
1 (-1,-3,1)
2.(-1,3,2)
3.(2,5,3)
oY fagett # F-8 fag 4 R B
SiigY aTelt YaT W R € ?
(a) Fae 13K 2
(b) Fa23R3
(c) Faa 133
(d) 1,233

Consider the following for the p
(02) items that follow : o

- Aiahat noa
Let nuulwﬂm» and C=j-f Let 7
be such that a-b =27 and wavnmm

-

25. What is b equal to ?
@ 3i+4 )42k
(b) 5i+27+2%
() si-2j+6k
(d) 3i+3/+4k
26. What is the angle between (7'+5) and

)

@

IR

W[y

(b)

a1

©

YR

@

Consider the following for the next two
(02) items that follow :

Let a vector @ =47-8 .m+m make angles

a, B, y with the positive directions of
X, y, z axes respectively.

27. What is cosa equal to ?

W | —

@

()

o |

11

N2V

©

(@

WIiN

28. What is cos2f+ cos2y equal to ?

32
(@ g1
16
®) %1
16
© 31
32
(CY] 31

Consider the following for the next two
(02) items that follow :

The position vectors of two points 4 and B
are i—j and 7 +k respectively.
29. Consider the following points :

1. -1,-3, 1)

2.(-1,3,2)

3.(-2,5,3)

Which of the above points lie on the
line joining 4 and B ?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d) 1,2 and 3

D — ASGT-B-GNL
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FAfE &1 IR R
VT 34. ¥ YA TF 333 30. What i i T ix of order 3x3 and
30. 4B & ? . _ . What is the magnitude of ? 34. Let A be a matrix ot order an
ke 1 R 7 o 4] =4 2 1 TR 2adiGA) =273 gnifude of 48 2 =4 If [2adj34)|=2°3" then
i) = 2, @ (o +p) N A T ®7 @ 2 what is the value of (@ +5)?
(b) 3 @ 12 () 3 (@ 12
© o ®) 13 © & ) 13
@ 3 © 17 (@ 17
: @ 3
. @, A 31. If w is a non-real cube root of 1, then coti
1 d B are the distinct roots of
1-o wmﬂ@Q%b%%!k;.mnowﬂ 1 35. If a an =0. th hat is th
wora?| o X ) what is the value of |——2_| 2 equation x* —x +1 =0, then what is fhe
o " _Q_S+m_8_ w+0? 1% 4 g1%0
@) 3 ™ % 25| A = @ 3 value of |55 gioo| ?
oM @ 3
a) 3 | @© 1
@ = ® ” 4 ® V2
V3 ®) V2 @ 5 © 1
32. 3 0, 1,2, 3, 4 9K 5 &0 (9% © 1 32. What is the number of 6-digit numbers @ —=
TF 9R) I FH 6 e areit Qe 1 that can be formed only by using V3
it ﬁgﬁ.mﬂwﬂmﬁmm% 6 @ 3 0,1, 2, 3, 4 and 5 (each once); and
s B 7 divisible by 6 ? 36. Let 4 and B be symmetric matrices
) - 36.9M WifST 4 3R B gEE W * 96 of same order, then which one of
(@) 96 Tqfia g £ @ (AB - BA) ¥ sl @ the following is correct regarding
(®) 120 mwn@@mmw%-aﬁa%ww ®) 120 : (AB—BA)?
© 192 1. sadht fael wiifeai s Afs () 192 _. M_wnm_hmsi sntrics are Equal' but
@ 312 T & @ 312
. 2. The s f it -di
. 2wl -l (Non-diagonal) entries MMHNnMo tts. mon-diagonal
33. N»Em_m | 1011 & g fe-smard wfafit 1 Frrea Nl ? 33. What is the binary number equivalent Select th
e R 7 to decimal number 1011 2 elec e correct answer using the
A ? = few g FE F WIRT W T& IFNK number code given below :
) 1011 & wFT Fif (@) 1011
a) 1 onl
® 111011 @ F391 () 111011 © y
(©) 11111001 (®) F79 2 1111001 (®) 2 only
@ 111110011 © 1323 @ © Bofh L and 2
d) FA 1,982 (d) 111110011 (d) Neither 1 nor 2
ASGT-B-GNL _ p
13 D — ASGT-B-GNL
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aw ¢ |
B ,
c—a X— i : . : ts of the
T S e et e Wi s S
& T # faw fofga @l ™ fam 4 x+b x+tcC 1 of same order n : Sk 0 x-a x-b 9
Hifir . equation | 0 0 x=¢/=07
) w@ﬁ%ﬁﬂf 1.AB=AC = B=C if 4 is non- b xte 1
1. Lmumﬂﬂwnﬁuu.wmmwﬁnﬂwd singular
w (@ atbtc @ a+b+c
btc 2.1f BX=CX for every column
P P S () a- matrix X having n rows then (b) a-btc
fr Bx=cx 8, @B=C () atb-c B=c © a+b-c
ITh w & /A e /87 d) a-b-c Which of the statements given above
#aw-a/ @ is/are correct ? (d a-b-c
(a) S 1 Frafrfan
(b) w2 ot ot 13 3 02) e 3 (@ 1 only Consider the following for the next two
A2 R foar Hiforg : (b) 2 only (02) items that follow :
(e) 13R2 . .
@ TR LT 7 AR sina 3K cosa F1 GM, sinf &; (c) Both 1 and 2 Let sinf be the GM oMm_nn and cosa; tany
) . 1 sa.
3R sina 3K cosa FT AM, tany ? (d) Neither 1 nor 2 be the AM of sina and €O
ww. N_/ﬁmm ﬁﬂ‘_mﬂa_ _wmﬂ g N+N.v\ +N"&~ ) — . 0
2x+4y+2z=8 3R 3x+6y+3z=10 41. cos2p s TR B ? 38. The system of linear equations 41. What is cos23 equal to ?
o w,.& x+2y+z=4, 2x+4y+2z=8 and (@) (cosa — sina)?
/ (@ (cosa — sina)? 3x+6y+3z=10 has 2
2
(a) ficia & @ (b) (cosa + sina)? () a unique solution (b) (cosa + sina)
®) w ¢ (c) (cosa - sina)? , (b) infinite many solutions (©) (cosa - sina)’
(© Fé T T & .2 (¢) no solution . \2
@ A (@ Losazsina)” @ Losa-dng)
5 (d) exactly three solutions 2
39. M._d Ek.u.n%w“ M | MM 42. sec2y FAMFTR ? 39. Let AX=B be a system of 3 linear 42. What is the value of sec2y ?
e wftawo frrama equations with 3-unknowns. Let X
g X, ok X, 76 3 P e &) 3—sin2a and X, be its two distinct solutions. If 3—sin2ax
e aX, + bX, ® WA, AX = BT (@) S+2sin2a the combination aX;+bX, is a @ 5+2sin2a
o e S8 el SR e ) rambers, then which one. o S+ sin2
3 S5+sin2 s R +smn2a
M,%Mw ) # a-a () % following is correct ? (®) 3—sin2a
. (@ a=b
@ a=b 3-2sin2a @ =2snZa
c ) a+b=1 © Y snza ®) at+b=1 4+sin2a
S (©) a+b=0 © a+b=0 .
% ¥ g Josin2a @ sin2e
© ) a-b=1 @ 3sn2a @ a-b=1 4+3sin2a

ASGT-B-GNL
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S
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Your

T I A A (02) WAt F frg Pl
R =R $ift

10m 3= TF G W 20 m 71 @ FGE
TR N A & e g P tan'(05) F
T SARa wwar & | W o O g

g PR safaamod
VAR @ Fwmarhgay A
Frafafe s w fer SIFC:
LxFqamaeme R3S
I # €
2. x &oeE i IE F SR @
T &
gt e § -/ W /R
(@) a1
(b) Fae 2
(¢) 13R23mt
@) TAL,AR2

44, Tan@ & GwIfeq A FT & ?
@ 3
2
(V] 3

© 3

@ 5

ASGT-B-GNL - D

16

@ 243+1

46. Trafafea wadt w few fifg
1. ABC Gwahvig ot @

2. P & i 4P HE

T Fol § w1 /Q T R/E 2
(a) Fa9 1

(b) Sad2

(c) 13K 23t

(@ FNL,TIR2

A 1 AT Y (02) WA 6 forg o
R @R Hifor :

.2 .
ﬂﬂm?wﬂ y= sin m..vmsmi
sin 4

ﬂﬂoA;me

47, x 1 FAH AH 4T ¢ ?
(@ 1
) 2
(© 3
@ 4

Consider the following for the next two
(02) items that follow :

A flagstaff 20 m long standing on a pillar
10 m high subtends an angle tan-1(0-5) at a
point P on the ground. Let 0 be the angle
subtended by the pillar at this point P.

43. If x is the distance of P from bottom of
the pillar, then consider the following
statements :

1. x can take two values which are in
the ratio 1:3

2. x can be equal to height of the
flagstaff

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

44, What is a possible value of tan ?

3
@ "

W

(®)

W | —

©

)

-

Consider the following for the next two
(02) items that follow :

The perimeter of a triangle 4BC is a. times
the AM of sine of angles of the triangle.

Further BC= A3 and C4A=1.

45. What is the perimeter of the triangle ?

@ 3+1
(®) V3+2
(© 3+3
(@ 2V3+1

46. Consider the following statements :
1. ABC is right angled triangle

2. The angles of the triangle are in
AP

Which of the statements given above
is/are correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following for the next two
(02) items that follow :

Let x=

sin?A+sin A+1 T
: where 0< A<=
sin 4 2

47. What is the minimum value of x ?
(@ 1
(®) 2
© 3
d 4

17 D - ASGT-B-GNL



- S
' g 48. At what value i i lowing  fr
? . of A does x attain the 51. Consider the following frequency
48. A F g W R, x F AR O X minimum value ? distribution :
- /4
@) 5 (a) 6
n - What is the value of median of the
® 7 ®) 1 distribution ?
(@ 1
/4
© 3 (©) mﬂu. () 2
) 3
n
C) m. ) r () 35
2
MN.WN— Ir H. bw wu Wu mNu H‘Nu wwu Wv —— MN. muO—‘ Qﬂs |- wu P W' mu #Nu Hﬂu wunwn.wn
ST I & (02) vt 3 fog Frefefi ¥ forg, 7R Mvea 5 e B e Consider the following for th 11; if M is the median of first 3
R feR fifvm 2 3k v afed o= devn i wfem 02) i er the following, for fhe: next two observations and N is the median of
: (02) items that follow : bservations, then what is
2 d M- N AR TR ? last five o s
) - ? -N?
A_vu_.wﬂ\:wh. #, at+bt+c? =ac++3bc @ 7 In the triangle ABC, the value of 4M— N
®) 4 a?+b*+c? =ac+Bbe @ 7
49. P W wET F R 7 © 1 ®) 4
49. What is the nature of the triangle ? @© 1
(a) TWaTE @ o
) (a) Equilateral @ o
wfaTe 537 oifig fedt ser sp=4g=R
(®) SP=40 2 (b) Isosceles 53.Let P, O, R represent mean, median
© w_.mﬂ F foo p, 0, R F9: |, wifeqen ) ] and mode. If for some distribution
TR (c) Right angled triangle R . P+0
R B frefm = 5 mwnamnmv then what is |mﬁ+oi~
(d) fowmarg Af wanig e . Mv++o©.\ _ w 2 2 (d) Scalene but not right angled equal to ?
50. 7R c=82, 1 a 1 50. If ¢=8, what is the area of the 1
m_.mﬂ TR @) 12 triangle ? @ 12
(@ 43
® @ 43 ®) =
) 63 ’
) ®) 643 2
AOV 8 )\w AOV W AOV m
) 83
(d) 1243 a1 1
@5 @ 123 @ 7
ASGT-B-GNL - p 1
8 19
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54. §@Ast 1,2,22 23, ., 2n1, & IONK
W G B, @ 1+ 2log,G 1 A F

7
@) 1
®) 4
) n-1
@ n
55.afs "emst 1,2, 22, 23, ..., 2+, W

TWIHS e H € A n/H forad SR
?7?

1

ANV 2- N=+_
1
AGV 2- N=I~
1
(c) 2+ pY=
@ 2--+~

ma.#ﬂ%ﬂﬂﬁiar&?&f..k__%
wifewsht P, WA O SR S R R |

e s= Y7 @x-a)® & s
WA AT T I g s]eR &

(@ P

Q

2

© 20

®

d R

ASGT-B-GNL - p

57, T & # 3 W 3R 2 FEl W T, q@
352 g St 3 R 3§ 1 @
qea & & Fe I R A # @ fen
sart R R @ & A W
Frapreht s & | = wifreran € o6 7 g

e | ?
6

@ 7

33

70

3

10

1

70

58, N & FoF W € | 1 Wil @ %
It W ¥l 3 % O I ?

(®)
©

@

@ 3

59. ¥ Wikrar @ f feok & wm &
5 @R gt 2
(@) 1

®)
©

@

NN Nlw A=

20

54. If G is the geometric mean of numbers
1,2,22 23, ...,2", then what is the
value of 1+ 2log,G ?

(@ 1
() 4
(© n-1
d) n

55. If H is the harmonic mean of numbers
1,2, 2% 2% ..., 2% then what is
n/H equal to ?

1

@ 2-24
® 2-5
© ~+N=_|_
@ N|~P=

56. Let P be the median, O be the mean
and R be the mode of observations

n 2
X1, X2, X3, - - - Xp. LEt S = MU_.LAN\«_. —-a)”.
S takes minimum value, when a is
equal to

(@) P

[
® 5
(0 20

d R

21

:ﬁ;

57. One bag contains 3 i—&»m.uza 2 Em.ow
balls, another bag contains 2 white
and 3 black balls. Two balls are
drawn from the first bag and put .:
into the second bag and then a ball is
drawn from the second cwm.. What is
the probability that it is white ?

6

() 7

33
(b) 2

3
© 1
1
d) —
@ 70
58. Three dice are thrown. What is the
probability that each face shows only
multiples of 3 ?

~ ~
NGO
W | — ':I)IH »O—-Ol_ O | —

~
a,
~

59. What is the probability that the month
of December has 5 Sundays ?

(@ 1
(®)

©

@

QIR Nw B
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Teeht 50 st @ .mwwﬂmmﬂ* au.EAom.@mEWEnmﬂﬂwﬂ@A
60. 50 AT

x@mEt y=x, y=mx IR x=2 TRT
St ot e & | 7 e € 6 aheg dee 3 w2 7
=+Ww <50@?
1
(@ —5
@ 2 ’
» ® -1
47
® 50 (c) IW
24
© 35 @ -2
49
() 50 64. cosec(x°) Tl Ao 74T § ?
o ot T R SR () —cosec(x°) cot (x°)
1. f(x)=Inx, (0, 8vm THAA R (b) I%@oo%o?d cot(x°)
2. wﬁkvnma+mw..ﬁo, 8%&@%@ T
(c) gogmn@ov cot(x°)
I Hl N w/A w2/ 7
(@) ¥ 1 , @ |%oomoocc cot(x)
(b) Faw 2
(© 13k 29 65. 3rawa gt ﬁm&nna@uo e
(@ TN, TE2 dx) dx
&R
62. sin® &1 cos’ ¥ ¥ ¥ srEgeS k2l
20 @ y=2
(@ -1 (®) y=2x+4
b) 1 _
®) . © y=x2-1
(c) sin2x
2
(d) cos2x @ y= " =2)

2
-D 22

60. A natural number 7 is chogep from the

63. For what value of m with m <0, is the

first 50 natural numbers, What is the area bounded by the lines y =x, y = mx
probability that =+ml~“V <509 and x=2 equal to 3?
2 (a) :
3 a) ——
— 2
@ 75
() -1
47
®) —
50 3
© -5
24 2
© 25
@ -2
@ 2
50 64. What is the derivative of cosec(x®) ?
61. Consider the following statements : (@) —cosec(x°) cot(x°)
L. f(x) = Inx is increasing in (0, w) ju
: (b) ———-=cosec(x°) cot(x°)
1 180
2. g(x) = e"+e* is decreasing in
0, )
0, =) (c) Z_cosec (x°) cot(x°)
Which of the statements given above 180
is/are correct ?
T
(a) 1 only (G)) lgnoﬁn@v cot(x)
(b) 2 only
65. A solution of the differential equation
(c) Both 1 and 2 2
@) _ Y_oi
(d) Neither 1 nor 2 : ar x bl
62. What is the derivative of sinx with (@) y=2x
respect to cos2x ?
=2x+4
(@) -1 ®) y
() 1 ©) y=x*-1
(c) sin2x (- 2)
@ y="=
(d) cos2x
23 D - ASGT-B-GNL



=
o
o)
[
S
<

66. 7 flx)=x2+2 IR g@=2-3
2, 1 () (1) forrd R & 7

(@ 3
®) 1
(c) -2
d) -3
67. %9 f(x)=x+|x|] H WE (range)

HT R ? W&l G| & Wid (Domain)
Ao AT T € 7

(@) (0, »)

() [0, )

(©) (-0, 0)

@ [1, »)

68. 7% f()=x(4-3) }, W f(sing)

fore s 2 7

(a) —sin30

(b) —cos30

(c) sin30

(d) -sindo

- S—x
69. *meﬂmﬂ._mm
) W_.mw_klm_ w.w

@ -1

() 0

© 1

(d) e w2

ASGT-B-GNL _ p

24

. 9_
70. lim =1 firs ww & 7

ol x7—

(@ -1
®) -3
©© 3
(@) @ R T R
LA 243, ST i=+21 2, e
m+§+@uo£ﬁﬂmw.&e+s
F A R ?
(@ -11
() -3
© 0

@ 3

o L] W i=+-1 2, @

1-iy3’
z S VI 4T g ?
@ 3
® =
© =
@ Z

66. If f(x)=x%+2 and
) 8(x)=2x-13 ¢
what is ()(1) equal to ? »then

(@ 3
() 1
© -2
@ -3

67. What is the range of the function

S&)=x+ x| if the domain is the set of
real numbers ?

@ (0, )
() [0, w)
©) (o, w)
@) [1, w)

68. If f(x)=x(4x2-3), then what is
f(sinB) equal to ?

(a) —sin30
(b) —cos30
() sin36
(d) —sin40

69. What is lim >~*  equal to ?
Ta_x.. m_

@ -1
(®) 0
(© 1

(d) Limit does not exist

25

9_
70. What is lim X~

equal to ?
x—l1 Hul 1

(@) -1
(b) -3
© 3
(d) Limit does not exist
71. If 2-i/3 where i=~/-1 is a root of
the equation x2 + ax + b =0, then what
is the value of (a+b) ?
(@) -11
() 3
© 0
@ 3

1+i+/3
72. If Nu_lh% where mu)\llf then

what is the argument of z ?
T
@ 3

2
() 3

4n

© =

5w
@ %

D - ASGT-B-GNL



73.af¢ a,b,¢ %wmmw

x+1 x+2 x+3

x+2 x+3 x+4 ey R T ?

x+a x+b x+3
(a) -1
) 0
() 1
@ 2

74, 9f% log,a, a* ¥R logyx, GP ¥ &

x T =R w ?
(a) log,(logya)
(b) logy(log,b)

AOV \Qwa Amowv nv

I6) logy(log, b)
2
1 b 1
75. 73 2°, 2%, 27 GP# € q Pt

-0 W R 7
(a) a,v,n.%mw
®) a,b,c,GPH &
(©) a,b,c,HPH &

(d) ab, be, ca, AP ¥

qa.ﬁ%ﬁﬂﬂ%ﬂﬂdﬁﬁﬁﬂ
3 K BRIWMWna w T
ﬂéﬂﬂﬁw.@:ﬂﬂﬂgww
@ s
(b) 6

£
o
o
)
S
o

ASGT-B-GNL, — D

() 7
(d) n i =& fean w0 whar

77. k% fohem quiier AT (integral values)
F fou wfiemer 2-4x+k=0, g
kot wen R, ¥ At 4w ¥ R
QT T I (0, 5)HE ?

(@ 3
®) 4
() 5
@ 6

78.TF AP #, W& W x ¥ 3R wew

n UG H AT T R | R m S
T ANTHA T ?

(a) E
n—1

(®) mx(m+n)
1-n

© nx(m+n)
m—1

(@) mlm+n)
1-m
79. Frafafea womt w e fiftg
1. 25)! +1,26 ¥ W T
2.(6)!+1,7 AT}
S F A F-w /A 3/
(2) ¥ae 1
(b) *aw 2
(c) 18R 23Mt
(d) A /1,982
26

73. If a, b, c are in AP, thep what is
x+l x+2 x43

x+2 x+43 x+4 equal to 9
x+ta x+b x+3

@ -1
(®) 0
1
@ 2

74. If log,a, a* and logyx are in GP, then
what is x equal to ?

(@) log,(logya)
(b) logy(log,b)

AOV NQNh QNQN.& hv

@ logy QM@. b)

1 5 1
75. If 2¢, 29¢, 2°
one of the following is correct ?
(@) a, b, c are in AP
(b) a, b, c are in GP
(¢) a, b, c are in HP
(d) ab, bc, ca are in AP

76. The first and the second terms of an
AP are 5 and 2 respectively. If nth

2

term is the largest negative term, what

is the value of n ?
(@ S
() 6

are in GP, then which

© 7

(d) n cannot be determined

77. For how many integral values of k, the
equation x2 —4x + k=0, where k is an
integer has real roots and both of them
lie in the interval (0, 5) ?

(@ 3
(®) 4
@© 5
@ 6
78. In an AP, the first term is x and the

sum of the first # terms is zero. What
is the sum of next m terms ?

@) mx(m+n)
n-1

®) mx(m+n)
1-n
© nx(m+n)

m-—1

@ nx(m+n)
1-m
79. Consider the following statements :
1. (25)! + 1 is divisible by 26
2. (6)! + 1 is divisible by 7

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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=
o
o)
[
S
o

You

z-1

%.ﬂmwﬂﬂ%ﬁ@maﬂwwi_

e i 8, 2| FR T
27

@

®)

WIN N —

(c) 1
@ 2

I W 9T 3 (02) wA F forg frffan
R foer $ifv

A wifsg

a b aa+bd
A(a, b, c, @)=| b c  ba+c

ac+b ba+c 0

8L A, b, ¢, 0)=0 A WR&F a>0
wwawm?@mm%_ém%f

(@) a,b,c APF}
(b) a,b,cGP ¥}
(¢) a,2b,c AP H}
(d) a,2b,cGP Y

82.7f A7, 4, 2, 0)=0 7t o Frtafas
3 -8 T W 7 (roof) 2 7
@ 7x?+4x42=0
) 7x’-4x+2=0

ASGT-B-GNL - p 2

() 7x*+8x+2=0

(d) 7x?-8x+2=0

IR I A 3 (02) Wt % for frafofem
R =R $ifsa

fomr T @ 5 Sevuoo%®+=~$=~®+~=
et n T Faa g awafes gen @

83. m(9) N AW A TTE ?
@ n
®) 2n
© 3n
(d) 4n

84. frm wiwe & sicwla m o W A
‘2
(@) n = tan%0
() n = cot?0
(©) n = sin%0

@ n

1

I

cos20

I A A QA (02) Wt F Fore Frfifas
nm.m_ﬂ.ﬂ%ﬂ

W x=0, y=0, x+y=1 3K 6x+y=3
A TG T T |

85. T3v-3@-f5g (origin) A TRY 9
Toremot 1 ety o 2 2

@ 3x+y=0
(®) 2x+3y=9
© 3x-2=0
@ 3x+2y=90

mc._wNmmmoo:G_nx ::Bcn_.mcn::ﬁ
z—1

T+l is purely mammiwg

then what s
|z| equal to ?

1
(@) 2

2
® 3
© 1
d 2

Consider the following for the next two
(02) items that follow :

a b aa+b
Let A(a, b, c, @)=| b ¢ ba+c

ac+b ba+c 0

81. If A(g, b, ¢, 0)=0 for every a > 0,
then which one of the following is
correct ?

(@) a, b, c are in AP
, (®) a, b, c are in GP
(©) a, 2b, c are in AP

(d) a, 2b, c are in GP

82. If A(7, 4, 2, 0)=0, then a is a :.vo"
of which one of the following
equations ?

(@) 7x2+4x+2=0

(b) 7x*-4x+2=0

(©) 7x* +8x+2=0
(d) 7x* —8x+2=0

Consider the following for the next two
(02) items that follow :

Given that m(6)= cot?0 +n*tan®6 +2n,
where 7 is a fixed positive real number.

83. What is the least value of m(8)?

(@ n
(®) 2n
(c) 3n
(d) 4n
84. Under what condition does m attain the
least value ?
(@) n = tan?6
(b) n = cot?6
(©) n=sin?0
(d n=cos?
Consider the

following for the next two
(02) items that follow :

A quadrilateral is formed by the lines
x=0,y=0,x+y=1 and 6x+y=3.

85. What is the equation of diagonal
through origin ?
@ 3x+y=0
) 2x+3y=0
() 3x-2y=0
d 3x+2y=0

29 D - ASGT-B-GNL



86. e e an ofar 1 & 7
(@ x+2p-1=0
®) x-2y-1=0
© 2x+y+1=0

@ 2x+y-1=0

%w%wm%&auvuiw?mﬂ@@m
ﬂ@ﬂﬂ%ﬂ

Qe 2+ 42 =1 W A FG P )) R
w1 ARG £, F adga & wied € |
87. PE + PF T R & 7

@@ 1

(®) 2

@© 3

@ 4

88. freafifie fargalt w e i
¥

1| —
N.o

F e T gl 3 e g
. 2 *
T (latus rectum) W g ?

(a) WEﬂ_wﬂ.ﬂN
(b) o923k 3

ASGT-B-GNL -
30

T www.prepp.in

(c) ¥aw 13K 3

(d) 1,23K3
ST 3Ty A A (02) Wt % forg Ffafem
R far $iftrg :
W y=x I (x-af +2=a T A G §
iedt ®
89. TGS T &AHT FT R ?

(m-2)a®
@ =
(- Can

4

®)

(m—2)a?

© 5

(m—1)a®
2

@

90. QAT N Serohet T R ?

(31 -2)a?
4

(@

®) (37 +2)a?
4

© QGr - anw
2

d) (37 +2)a?
2

86. What is the aﬂ:m:O: of ot

nal ? her diago-
(@ x+2y-1=9
b)) x-2y—-1=9

AOV 2x + y+ 1=0

d 2x+y-1=90
Consider the following for th
(02) items that follow : ¢ fext two
P(x,y) is any point on the ellipse

2+4y2=1. Let E, F be the foci of the
ellipse.

87. What is PE + PF equal to ?
@ 1
®) 2
(© 3
@ 4

88. Consider the following points :

L1 0

Bl

Which of the above points lie on latus

rectum of ellipse ?
(a) 1 and 2 only
(b) 2 and 3 only

(c) 1and3 only

(d) 1,2and?3

Consider the following for the next two
(02) items that follow :

The line y =x partitions the circle
Qlen +k~ = g% in two segments.

89. What is the area of minor segment ?

C«!anN
4

(a)

90. What is the area of major segment ?

Br-2)a>
@ =5

2
®) (Br+2)a

(31 +2)a’

@ 5
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g E.qﬂwﬁmwﬂﬂﬂmﬂnﬁsﬂﬁw
:mﬁ:&w.ﬂww%ﬁs
11,16 5% 20 | sma A e FTE ?

(a) 83K 15
®) 9k 14
(c) 103K 13
(@ 113K 12

92. 71 Y 4 3K B A @7 TeTd 39
¥R § f&

P(4)=07, P(B)=*k, P(4UB)=08
BRIk H TR ?
(€) W
® 5
© m

@ 3

8.@%#@#&@%?98&
ﬁw%ﬂmﬂsmw N SR ST
gw_ﬂma%ﬂ_amyﬂww
T T S S 3 v (tail) amg i

S ASGTB-GNL_p

32

81

(c) 256
27
(d) 1024

94. TF R @ vaR IR R 5 gy
5 (head) s & s e (tail) 33
%aﬂﬁw%w.@ﬂwﬂﬁ
%%mm&ﬂ%x@ms@%
T Wil @ 7

81
a) —
@ 256

27
(b) a

27
© 2L
) 256

9
(@ 756

&.ﬂ%@nk%w&ﬁ@ﬂﬂﬂ
TIR € X+ Y=100 2 | aft s
:HScwmA.mHm.ﬂWﬂ\w\.@amm.mﬂma
SITE AR, A Y H TR D 2

@ 1
1
® 2

(c) 16

@ —

91. The mean and varjance of five obser.
vations are 14 and 13.2 respective]
Three of the five Observations ae _w.
16 and 20. What are the other :zm
observations ?

(a) 8 and 15
(b) 9 and 14
(c) 10 and 13
(d) 11 and 12

92. Let 4 and B be two independent events
such that

P(4)=07, P(B)=k, P(AUB)=038.
What is the value of k9

5
(a) 7

=N

(®)

©

=N

1

@ =
93. A biased coin with the probability of
getting head equal to  is tossed five

times. What is the probability of
getting tail in all the first four tosses

followed by head ?

81
(@ 312

81
®) 1024

e ——

81
(©) 256

27
@ 1024

94. A coin is biased so that heads comes
up thrice as likely as Szm.. In ».9.1
independent tosses of the coin, what is
probability of getting exactly three
heads ?

81

@ 256

27
(b) 7

© L8

@ =

95. Let X and Y be two random variables
such that X+ Y=100. If x follows
Binomial distribution with parameters

n=100and p = m. what is the variance
of Y?

@ 1
1
®) 2
(© 16
1
@
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.prepp.in

.
3
o
>

c@.qui.i_ueu%f;_;?o
2 s Yo § A ow y =3
».maﬂ_ﬂ—gwu
(a) -13
) -5
(©) S
d 7
97. @ 39 <% (Pie Chart) ¥ SR i3
(foft %) 5w 9p=3¢ = =65 RN
ﬁw&mﬂwmzblaﬂdﬂmﬂw.o
(a 12
(b) 24
(© 30

d) 36

98.4,1,4,3,6,2,1,3,4,5, 1, 6 e 12
T T WY @ o |
AR m SR M Fw: TR BT § Y
AR T TR 4 Yot F wem @
@m + M) fs wm=r 2 7

(@ 10
®) 12
(c) 17
d) 21
9. & 3w @ fag

-1, :wwﬂa,mvw_%—v.%q x ®
THPTAV @1 T et

@ x-4p+5=
As uN+NEl_HO

- ASGT-B-GNL _ p

34

() x+4y+1=0
(d) Sx-4v+1=0

100. T& TR F 10 R IV TR 3k
g wfoms yw e £
1,2,1,1,2,1,4,6,5,4

T WER VW 3 (data) F TGeTH T
o 7

(@ 6
®) 4
© 2
@ 1

IR A A AW (03) WAl ¥ fg
frafafes w fer St

L4

uﬂmw.?A:n._. xN&xwﬂm

0 l+cos“x

T 1
\Nn.ﬂ ——dx ¥
0 1+sin“x

L+1,
101. lN_LN HAA I ?

(a) 1
(b) n

(c)

@ —

96.1f two lines of regression  are
e whet i e v Y 7=0,
y=-3? § the value of v when
(a) -13
() -5
(c) 5
d) 7

97. The central angles p, g, r and 5
(in degrees) of four sectors in a
Pie Chart satisfy the relation 9p = 34 -
2r=6s. What is the value of 4p - ¢ 2

(a) 12
() 24
(c) 30
d) 36

98. The observations 4, 1, 4, 3, 6, 2, |,
3,4, 5,1, 6 are outputs of 12 dices
thrown simultaneously. If m and M are
means of lowest 8 observations and

highest 4 observations respectively,
then what is (2m + M) equal to ?

(@ 10
() 12
(c) 17
) 21
99, A bivariate data set contains only two

points (-1, 1) and (3, 2). What (_c,_: be
the line of regression of y on X

(@) x-4y+3=0

(b) 3x+2y-1=0

>

n

(c) x+4y+1=0

(d) 5t-4y+1=0

100. A die is thrown 10 times and obtained
the following outputs :

1.2,1,1,2,1,4,6,5,4

What will be the mode of data so
obtained ?

(a) 6

(b) 4

9

(c)

(d) 1}

Consider the following for the next three
(03) items that follow :

o

Let .\.n._ —% _ dc and

0o l+cos™x

L= ._.a |!_| s

=
0 l+sin"x

L +1
101. What 1s the value of 2,
L-1, °
/.5 ”
b =
(c) n’
d) td
( n-1
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repp.in

102. 877 F AR FR ?

@ 7
® #*
© =
@ =

103. L WA FTR ?
V3
(€] "1
(b) 7
© 20

@ 35

I S AW QY (02) Wt F forg iR
R fER $ift

b
ﬂ&ﬂﬂL _hx_&? a<b
a
:x;@awmaﬂwﬁiogw@
(@ a+b

b) a-b

ASGT-B-GNL - p

105. [ Fred SR & S a<b<0 R ?
(@) a+b
(b) a-b
() b-a

(a+b)
2

CY

IM FW AW i\ (03) Wi ¥ fro
Frafafes ) fer $fm:
ﬂﬂ%ﬂ\@vu_~§_,xﬂ~ %
106. x=0-5 R f(x) T st FTE 7 °
@@ -2
®) -1
() 1

d 2

107.x=2 R f(x) 1 e @1 § ?

©

N | —

@ 2

36

102. What is the value of g 9
(@ 7
(b) 7
(c) n

@ =*

103. What is the value of 1, 7
T
@ 7

T
®) 2

3r

© "2

n
@ 3%

Consider the following for the next two
(02) items that follow :

b
Let I= E&? a<b
e X

104. What is / equal to when a<0<5?
(@ a+b
®) a-b
(c) b-a

(a+b)
@ 5

37

105. What is / equal to when a<b<0?
(@ atb
(b) a-b

(c) b-a

(a+b)
@

Consider the following for the next three
(03) items that follow :

Let f(x)=|inx| x#1

106. What is the derivative of f(x) at
x=05?

(@ -2
® -1
© 1
@ 2

107. What is the derivative of f{ x)atx=22?

@ =3

®) -1

N |-

(©)
@ 2
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r Fe‘

' g . = 99 (03) WE & 108. What is the derivati . .
. S Y, T 1 <x<2 I aT W_ﬂ 1ve of fof(x), where Consider the following for the next three
Mem.MWAuvﬁ frrfifi w frm A Pex<2? (03) items that follow :
1 A AT f(x) = Pe*+ Qe** + Re™, B3| @) R Let f(x)=Pe+ Qe** + Re*, where P, 0,
@ Jox P, 0, R e TEA ¥ | W e Inx R are real _EB_uwﬂw. Further f(0)=6,
n ‘ - d [ fxydx=11
1 f0)=6, f'(In3)=282 3K h N\@&u: 1 f'(in3) = 282 an _o /&
®) Tnx . ®) Yinx
UL QF AR TR ? 111. What is the value of Q?
1 ' : 1
(€ —7— .
Inx @ 1 © Inx @ 1
1
e ®) 2 @ - 1 ®) 2
. xinx
A T A frafifea © 3 © 3
w® R %%M .Bsnﬁmwm.ﬁ Consider the following for the next two
’ d) 4 (02) items that follow : @ 4
x+6, x<1 -
T g f(x)={px+q, 1<x<2 x+6, x<1
5x, 32 112. RFTHH FTR ? Let f(x)= Eﬂ& _AWAN 112. What is the value of R ?
>
R f (x) T ) X, X
) & (@ 1 and f(x) is continuous @@ 1
109. p =1 AW
? WLl () 2 . 109. What is the value of p ? ®) 2
@ 2 i
®) 3 (c) 3 (a) © 3
() 3
() 4 d) 4 @ 4
. () 4
@ s
o 113. £/(0) foreres =R & 7 @ s 113. What is f'(0) equal to ?
. g RAFHTE ?
(@ 2 @ 18 110. What is the value of ¢ ? (@ 18
®) 3 ®) 16 (@ 2 ®) 16
b) 3
©) 4 © 15 (®) © 15
@ s () 4
(@ 14 @ 14
ASGT-B-GNL _ @ s
38
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st st a2 (02) et g Pt
v fmm Hifm
IH-FA .-.Numn¢+uma\m. #t fref &

2, i ¢ UF AT W €
114, 50 e wetao & A (order) 771
27
(a) 1
®) 2
(c) 3
@ 4

115. 0 33 FHftaww ) 9@ (degree) 1
13K
(a) 2
() 3
(c) 4

d) "= = sfee 7 2

M IR A AW (03) we ¥ fo
Frfirfiem w faaw i .

cosx x ]
ﬂx%ﬂ S(x)=[2sinx 2 2x
tanx x |

116. £(0) T ey ¢ 7

@ -1
®) 0
k= .
% @ 2
[}
S ASGTB-GNL -

S

40

17, tim L) fymy o R 7

s=30 X
(a) -1
®) 0
(c) 1
) 2
18. 1im L) fymy w2 7

0 32
(a) -1
b) 0
(c) 1
(d) 2

iii&aeiw?g
R R #ft .
w3 R £(x) = sin[x? Jx+cos[-n2|x i
[] OF Heww gt e 2
19, 1 m foreds arar 2 7

(a) -1

®) 0

(c) 1

@) 2

_S.Am T T 2 7

1
®
(b) -1
(c) 1

]
(d) W

Consider the fallowin, for
(02) items that fallaw

the next twa

Suppose E is the differential »

quation renre
senting family of cyryeg

1
V' =2er 43,

where ¢ 15 a positive parameter

114. What is the order of (e
equation ?

differential
(a) |
(b) 2
(c) 3

(d) 4

115. What is the degree of the diiferential
cquation ?

(a) 2
(b) 3
(c) 4

(d) Degree does not exist

Consider the following for the next three
(03) items that follow :

cosx v | "
Let f(x)=|2sinx ¢ 2
tanx x |/

116. What is f(0) equal 10 ?

(@ -1

41

117. What is lim

gy ¥

equal to ?

)

(x)
[18. What i§ :3_ n\.lq; equal to
o '

Consider the following for the next two
(02) items that follow

.,,~ # cosf \.N._.« where —~

nteger unchion

119. What 18 equal to’

120. What is

| Q
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